### MAJOR COMPONENT- Quality Interventions

SUB-COMPONENT- Training for In-service Teacher and Head Teachers ACTIVITY MASTER- In-Service Training

**ACTIVITY- In-Service Training** 

### **1.Progress Report in r/o In-Service Training 2019-20**

Sub C	omponent : Training for In-Ser	vice			
Teach	er and Head Teachers				
In-Ser	vice Training (I - VIII)				
81.a	Class I & II	8000	200.00	4000	100.00
81.b	Class III to V	12000	300.00	6000	150.00
81.c	Class VI to VIII	20000	500.00	10000	250.00
Total o	of In-Service Training (I -		1000.00		500.00
VIII)					
	ng of Resource Persons &				
Maste	r Trainers (Elementary)				
85	Printing of Integrated	40000	60.00	20000	30.00
	Teacher Training Package				
85.a	KRPs Training at State Level	295	17.70	150	8.50
	(Class I to VIII)				
85.b	SRPs Training by NIEPA at	59	1.18	30	0.50
	State Level (Class I to VIII)				
85.c	KRPs	354	88.50	177	44.00
	Travel/Accommodation				
	of Training of Resource		167.38		83.00
	s & Master Trainers				
	entary)				
	of Training for In-service Teach	ner,	116	57.38	583.00
Head [	<b>Feacher</b>				

	mponent : Training for In-Ser r and Head Teachers	vice				
In-Serv	rice Training (IX - XII)					
82.a	Class IX to X	20000	2	252.00	10000	126.00
82.e	Subject Specific Training	11000	1	73.25	5500	87.00

Total o	of In-Service Training (IX -		425.25		213.00
XII)					
School	Leadership Training of				
Head 7	Feachers/Principals/RPs				
(Secon	dary)				
88.b	Training of Head Masters	1200	57.60	600	28.5
	(Class IX to XII)				
88.d	Training of HMs (SLDP)	75	3.75	35	1.5
Total o	of School Leadership		61.35		30.00
Traini	ng of Head				
Teach	ers/Principals/RPs				
(Secon	dary)				
Total of Training for In-Service Teac		cher	48	86.60	243.00
and H	ead Teachers				

### 2.Proposal for In-Service Training in AWP&B 2020-21

#### Training of In-Service teachers, Head Teachers and Teachers Educators

#### a.In-service Training (I-VIII)

#### Proposal:

In-service Training Programme will be organized by SCERT for Elementary Teachers of Class I and VIII.

#### Objective:

Capacity Building and holistic development of Teachers in respect of National prospective.

#### Proposal activity:

Training on NISHTHA Module & Induction Level training.

#### Strategy:

The training of SRPs, KRPs and Teachers of Local Bodies has already been completed in Delhi State. However, the training of teachers from Directorate of Education will be conducted during the month of April-May, 2020 at District and Zonal level.

#### Justification/Rationale:

Holistic Development of Teachers

### Financial Implications: 920 (Lac)

				(Fin. In Lac)
Activity	District	Phy.	Unit Cost	Fin
5 days training of Primary	East	147	0.025	3.675
Teachers of Class I and II	North East	117	0.025	2.925
(The training will be based	North	113	0.025	2.825
on NISHTHA Module)	North West A	137	0.025	3.425
	North West B	288	0.025	7.2
	West A	128	0.025	3.2
	West B	153	0.025	3.825
	South West A	94	0.025	2.35
	South West B	128	0.025	3.2
	South	71	0.025	1.775
	South East	75	0.025	1.875
	New Delhi	45	0.025	1.125
	Central	4	0.025	0.1
	Total	1500	0.025	37.50
5 days training of Primary	East	196	0.025	4.9
Teachers of Class III to V	North East	157	0.025	3.925
(The training will be based	North	150	0.025	3.75
on NISHTHA Module)	North West A	183	0.025	4.575
	North West B	384	0.025	9.6
	West A	170	0.025	4.25
	West B	204	0.025	5.1
	South West A	125	0.025	3.125
	South West B	170	0.025	4.25
	South	95	0.025	2.375
	South East	101	0.025	2.525
	New Delhi	5	0.025	.125
	Central	60	0.025	1.5
	Total	2000	0.025	50
10 days training of Newly	East	508	0.05	25.4
AppointedPrimaryTeachers	North East	624	0.05	31.2

of local bodies & DoE for	North	328	0.05	16.4
Class I –V	North West A	771	0.05	38.55
	North West B	924	0.05	46.2
	West A	389	0.05	19.45
	West B	678	0.05	33.9
	South West A	220	0.05	11
	South West B	546	0.05	27.3
	South	290	0.05	14.5
	South East	485	0.05	24.25
	New Delhi	107	0.05	5.35
	Central	130	0.05	6.5
	Total	6000	0.05	300
5 days training of Class VI	East	2139	0.025	53.475
to VIII Teachers (The	North East	2458	0.025	61.45
training will be based on	North	1182	0.025	29.55
NISHTHA Module)	North West A	2064	0.025	51.6
	North West B	2439	0.025	60.975
	West A	1088	0.025	27.2
	West B	1557	0.025	38.925
	South West A	882	0.025	22.05
	South West B	1763	0.025	44.075
	South	1351	0.025	33.775
	South East	1726	0.025	43.15
	New Delhi	619	0.025	15.475
	Central	732	0.025	18.3
	Total	20,000	0.025	500
5 days training of Nursery	East	123	0.025	3.075
teachers	North East	127	0.025	3.175
	North	59	0.025	1.475
	North West A	117	0.025	2.925
	North West B	188	0.025	4.7
	West A	95	0.025	2.375
	West B	118	0.025	2.95
	South West A	71	0.025	1.775
	South West B	149	0.025	3.725
	South	74	0.025	1.85
	South East	85	0.025	2.125
	New Delhi	49	0.025	1.225
	Central	45	0.025	1.125

	Total	1300	0.025	32.50
--	-------	------	-------	-------

- 1. The capacity building of teachers / HMs through NISHTHA will ensure achievement of learning outcomes in the children in schools across managements.
- 2. This will help in Continuing Professional Development (CPD) of Teachers.

# b.In-service Training (IX-X) Under NISHTHA\* (based on the letter received from MHRD vide letter No.D.O.No.1-1/2020/IS.17 dated 20.02.2020, Point No. IV)

#### Proposal:

In-service Training Programme will be organized by SCERT for Class IX and X Teachers

#### Objective:

Capacity Building and holistic development of Teachers in respect of National prospective.

#### Proposal activity:

Training on NISHTHA Module & Induction Level training phase-II.

#### Strategy:

The training of teachers from class IX & X will be conducted after KRP / SRP training

#### Justification/Rationale:

Holistic Development of Teachers

#### Financial Implications: 503.00 (Lac)

				(Fin. In Lac
Activity	District	Phy.	Unit Cost	Fin
5 Days KRP Orientation at Secondary Level	NA	150	0.02	3.00
5 days training of Class IX & X	East	2139	0.025	53.475
under NISHTHA	North East	2458	0.025	61.45

North	1182	0.025	29.55
North West A	2064	0.025	51.6
North West B	2439	0.025	60.975
West A	1088	0.025	27.2
West B	1557	0.025	38.925
South West A	882	0.025	22.05
South West B	1763	0.025	44.075
South	1351	0.025	33.775
South East	1726	0.025	43.15
New Delhi	619	0.025	15.475
Central	732	0.025	18.3
Total	20,000	0.025	500.00

- 1. The capacity building of teachers / HMs through NISHTHA will ensure achievement of learning outcomes in the children in schools across managements.
- 2. This will help in Continuing Professional Development (CPD) of Teachers.

#### C.In-service Training (IX-XII)

#### **Proposal:**

In-Service Teachers training for newly promoted & Appointed Teachers of Class IX and XII of Government Schools of Delhi

#### **Objective**:

Capacity Building of Teacher of Class IX to XII on pedagogical content and general topics such as Happiness Curriculum, Entrepreneurship Mindset Curriculum, Substance Abuse, Road Safety and Gender Sensitization.

#### Proposal activity:

Induction Level Training

#### Strategy:

Need assessment, material development and training at ground level.

#### Justification/Rationale:

#### Professional development

#### Financial Implications: 800 (Lac)

				(Fin. In Lac)
Activity	District	Phy.	Unit Cost	Fin
10 days Newly promoted	East	1106	0.05	55.3
& Appointed Teachers of	North East	1271	0.05	63.55
Class IX and X	North	611	0.05	30.55
	North West A	1068	0.05	53.4
	North West B	1263	0.05	63.15
	West A	563	0.05	28.15
	West B	806	0.05	40.3
	South West A	398	0.05	19.9
	South West B	913	0.05	45.65
	South	699	0.05	34.95
	South East	894	0.05	44.7
	New Delhi	29	0.05	1.45
	Central	379	0.05	18.95
	Total	10,000	0.05	500
10 days Newly promoted	East	508	0.05	25.4
& Appointed Teachers of	North East	624	0.05	31.2
Class XI and XII	North	328	0.05	16.4
	North West A	771	0.05	38.55
	North West B	924	0.05	46.2
	West A	389	0.05	19.45
	West B	678	0.05	33.9
	South West A	220	0.05	11
	South West B	546	0.05	27.3
	South	290	0.05	14.5
	South East	485	0.05	24.25
	New Delhi	107	0.05	5.35
	Central	130	0.05	6.5
	Total	6000	0.05	300

#### Expected Outcome:

- 1. The newly recruited / promoted teachers will be oriented in the functioning of the organisation and will be familiarized with the Curriculum Examination pattern etc.
- 2. Professional growth of newly appointed teachers and learning process will be improved of students.

#### d.School Leadership Training of Heads Teachers/ Principal/ RPs (Elementary)

#### Proposal:

School Leadership Training of Heads Teachers/ Principal/ RPs for Elementary level.

#### **Objective:**

Prepare Resource person for annual training of HoS.

#### **Proposal activity:**

Leadership Training

#### Strategy:

Need assessment, material development and training at ground level.

#### Justification/Rationale:

Leadership Capacity Building for Elementary level HoS

#### Financial Implications: 52.475 (Lac)

				(Fin. In lac)
Activity	District	Phy.	Unit Cost	Fin.
5 Days Administrative	East	189	0.025	4.725
Capacity building of HoS of	North East	145	0.025	3.625
local bodies	North	95	0.025	2.375
	North West A	193	0.025	4.825
	North West B	203	0.025	5.075
	West A	111	0.025	2.775
	West B	131	0.025	3.275
	South West A	66	0.025	1.65
	South West B	131	0.025	3.275
	South	131	0.025	3.275
	South East	36	0.025	0.9
	New Delhi	44	0.025	1.1
	Central	175	0.025	4.375
	Total	1650	0.025	41.25
5 Days Administrative	East	50	0.025	1.25
Capacity building of	North East	59	0.025	1.475
Primary In-charges	North	28	0.025	0.7
	North West A	48	0.025	1.2
	North West B	57	0.025	1.425
	West A	25	0.025	0.625
	West B	37	0.025	0.925
	South West A	18	0.025	0.45

South West B	41	0.025	1.025
South	31	0.025	0.775
South East	42	0.025	1.05
New Delhi	1	0.025	0.025
Central	12	0.025	0.3
Total	449	0.025	11.225

Development of Administrative Skills, exposure to functioning of various departments, integration and coordination with each other and DOE at Primary level for uniform policy implementation.

#### e.School Leadership Training of Heads Teachers/ Principal/ RPs (Secondary)

#### Proposal:

School Leadership Training of Heads Teachers/ Principal/ RPs for Secondary level.

#### **Objective:**

Prepare Resource person for annual training of HoS.

#### **Proposal activity:**

Leadership Training

#### Strategy:

Need assessment, material development and training at ground level.

#### Justification/Rationale:

Leadership Capacity Building for Elementary level HoS

#### Financial Implications: 60.50 (Lac)

				(Fin. In lac)
Activity	District	Phy.	Unit Cost	Fin.
3 Days School	East	129	0.03	3.87
Leadership Training of	North East	148	0.03	4.44
Heads Teachers/	North	73	0.03	2.19
Principal/RPs	North West A	124	0.03	3.72
	North West B	137	0.03	4.11
	West A	67	0.03	2.01
	West B	94	0.03	2.82
	South West A	55	0.03	1.65
	South West B	104	0.03	3.12
	South	84	0.03	2.52
	South East	102	0.03	3.06
	New Delhi	38	0.03	1.14

	Central	45	0.03	1.35
	Total	1200	0.03	36
7 Days programme for	East	78	0.035	2.73
Newly promoted Vice-	North East	89	0.035	3.115
principals on School	North	43	0.035	1.505
Leadership and	North West A	69	0.035	2.415
Administrative skills	North West B	89	0.035	3.115
	West A	40	0.035	1.40
	West B	57	0.035	1.995
	South West A	29	0.035	1.015
	South West B	65	0.035	2.275
	South	49	0.035	1.715
	South East	63	0.035	2.205
	New Delhi	2	0.035	0.07
	Central	27	0.035	0.945
	Total	700	0.035	24.50

Development of Administrative Skills

Total Amount: 2342.125 Lac

### **3.Recommendation of Technical Support Group (TSG)**

#### A. Training for Teachers & Teacher Educators

#### A. Elementary Level-:

a) In-service Teacher Training. Classes I to VIII.

Progress of In-Service Teacher Training at Elementary level:

#### The following major activities were conducted for implementation of NISHTHA:

#### General :

- 1. State Level Coordination Committee (SLCC) was formed at state level for smooth monitoring and implementation of NISHTHA.
- 2. State Level Core Team (academic) was formed at state level for smooth monitoring and implementation of NISHTHA.

- 3. At District level DIET, Principal were notified as Nodal Officer for smooth conduct of training at District level.
- 4. Training module had been printed by SCERT in Hindi & English languages -
- 5. State Resource Persons (SRPs) and Key Resource Persons (KRPs) were selected for the state to conduct block level training.

Total SRPs trained were = 95 Total KRPs trained were = 315

6. Training of SRPs and KRPs by National Resource Group members (NCERT, NIEPA).

For SRPs: 6 days For KRPs: 5 days

Conducted in 5 batches (from 3<sup>rd</sup> to 9<sup>th</sup> September, 2019) Training venue: SBV (Shaheed HemuKalani), Lajpat Nagar, New Delhi-110024.

#### Training/orientation etc.:

- I. Login Id and Password of all SRPs have been created and conveyed.
- II. As per guidelines from NCERT the handles on twitter, Facebook, YouTube and whatsApp groups are in the process of creation to share training and other activities on social media by the technical team.
- III. A half day internal meeting with DIET Principals, IFIIC (In service Programme, Field Interaction & Innovation coordination) faculty and Coordination team of NISHTHA program was organised at SCERT Delhi on 13/09/2019 under the chairmanship of Director, SCERT, Delhi to plan and prepare the roadmap for conducting district wise teacher training.
- IV. A half Day meeting with officials of all local bodies of Delhi, DIET Principals and Coordination team of NISHTHA program was organised at SCERT Delhi on 20/09/2019 under the chairmanship of Director, SCERT, Delhi to discuss & finalize the plan and roadmap of teacher training for all local bodies' Schools of Delhi.
- V. To create login id of teachers and school heads the required basic details needed to be uploaded on the NISHTHA portal in CSV (Comma Separated Value) file. For collecting the basic details of teachers & School heads a google form has been created and circulated with all local bodies' schools through concern officials. Regular follow up through phone and whatsApp message with concern officials is being done to inform the teachers to fill the google form. CSV file is needed to be uploaded on NISHTHA portal 5 days in advance before the training start.

- District level teachers' training was scheduled for 6 days, in non-residential mode. Total (targeted) teachers = 15392 (only elementary level teachers). Total coverage was 11311 (73.48). District wise target, coverage, % of achievement is attached herewith.
- 8. Monitoring and support was provided by SCERT and DIETs.

			STATUS OF	NISHTHA	TRAININ	G- 2019-2	0 (Delhi)			
SL.		I&II Level		III-V			Level		TAL	% of achieve
Ν	DISTRICT	PH	YSICAL	PHYS	ICAL	PHYSICAL		PHYSICAL		ment
0.		TARG ET	COVERED	TARGE T	COVER ED	TARGE T	COVER ED	TARGE T	COVER ED	
1	East	1041	719	1562	1080		<b>A</b> e to	2603	1799	69.11
2	North East	1629	1346	2445	2019	admini	strative	4074	3365	82.59
3	North	806	568	1211	854		raining nme will	2017	1422	70.5
4	Nort West-A	420	279	630	419	be cond the yea	ucted in r 2020-	1050	698	66.47
5	North West- B	792	604	1188	907		1)	1980	1511	76.31
6	West-A	216	186	325	280			541	466	86.13
7	West-B	300	232	451	348			751	580	77.23
8	South West- A	143	64	215	96			358	160	44.69
9	South West- B	262	158	395	238			657	396	60.27
10	South	36	24	53	34			89	58	65.16
11	South East	61	43	91	64			152	107	70.39
12	New Delhi	61	35	91	52			152	87	57.23
13	Central	387	264	581	398			968	662	68.38
		6154	4522	9238	6789			15392	11311	73.48

**Over all progress** 

Class	Target	Achievement	Percentage
Class I & II	8000	4522	56.52
Class III to V	12000	6789	56.57
Class VI to VIII	20000	Nil (Due to administrative issues training programme will be conducted in the year 2020-21)	0.00
Total	40000	11311	28.28

UT has achieved 28.28 % target in 2019-20 as on 3103.2020 under in-service teachers training program. NISHTHA.

#### a) In-service Teacher Training. Classes I to VIII.

The UT has proposed an amount of Rs. **587.50 lakhs** for financial assistance under In-service teacher training for Classes I to VIII. The appraisal team has been recommended the same amount Rs.**235.00** lakhs for the In-service teacher training. The details of Class wise In-service training proposal and recommendation under this head are as given in the table below:

(Rs. In lakh)

SI.	Activity		Proposal			Recommendation			
No.		Phy	Unit Cost	Fin	Phy	Unit Cost	Fin		
1.	Class I & II	1500	0.025	37.5	1500	0.01	15		
2.	Class III to V	2000	0.025	50	2000	0.01	20		
3.	Class VI to VIII	20000	0.025	500	20000	0.01	200		
	Total of In-Service Training (I - VIII)			587.5			235		

Recommendation details: @ Rs.1000/- per teacher for online NISHTHA Training at Elementary level for covering the remaining teachers under NISHTHA-elementary level.

It has been decided that this year remaining training of NISHTHA at elementary level will be conducted online by the NCERT using high quality professionally made e-content following the four quadrant approach consisting of video, text, self-assessment and learn more. Consequently, in order to facilitate teachers to undertake online NISHTHA training, financial support upto Rs. 1000 per teacher for procuring pen-drives, printing of modules and high speed data-pack will be provided to Government teachers at the elementary level on reimbursement basis and subject to successful completion of the training course.

#### b) Induction Training (Elementary)

The UThas proposed an amount of Rs. **300.00** lakh for financial assistance under **Induction** Training. The appraisal team has not been recommended the induction training due to the present COVID-19 situation only online NISHTHA Training at Elementary level will be conducted in 2020-21. The detailed training proposal and recommendation under this head are as given in the table below.

(Rs.	In	lakh)

SI. No.	Activity			Recommendation			
		Phy	Unit Cost	Fin	Phy	Unit Cost	Fin
1.	Primary	6000	0.05	300	0	0	0
	Total of Induction Training (Elementary)			300.00			0

#### c) Training of Educational Administrators (Elementary)

The UT has proposed an amount of Rs41.25 lakh for financial assistance under Training of Educational Administrators. Administrators Training covered under the integrated teacher training program NISHTHA .The appraisal team has not been recommended training under this head. The detailed training proposal and recommendation under this head are as given in the table below.

(Rs. In lakh)

SI.	Proposal			Recommendation			
31. No.	Activity	Phy	Unit Cost	Fin	Phy	Unit Cost	Fin

SI. No.	Activity		Recommendation				
		Phy	Unit Cost	Fin	Phy	Unit Cost	Fin
1.	Elementary Level (Classes I to VIII)	1650	0.025	41.25	0	0	0
	Total of Training of Educational Administrators (Elementary)			41.25			0

#### B. Secondary Level-:-

#### a) In-service Teacher Training. Classes XI to XII

The UT has proposed an amount of Rs. **500.00 lakhs** for financial assistance under In-service teacher training for Classes XI to XII. The appraisal team has been recommended the same amount Rs. **160.83** lakhs for the In-service teacher training for 5 days. The details of Class wise In-service training proposal and recommendation under this head are as given in the table below:

(Rs. In lakh)

SI.	Activity		Proposa		Reco	mmendati	on
No.		Phy	Unit	Fin	Phy	Unit	Fin
			Cost			Cost	
1	Language Training Under NISHTHA(Class IX-X)	8001	0.025	200.025	8001	0.01	80.01
2	Math Training Under NISHTHA(Class IX-X)	3997	0.025	99.925	2811	0.01	28.11
3	ScienceTraining Under NISHTHA(Class IX-X)	3997	0.025	99.925	2630	0.01	26.3
4	Social Science Training Under NISHTHA(Class IX-X)	4005	0.025	100.125	2641	0.01	26.41
	Total of In-Service Training (IX - XII )			500			160.83

Recommendation details: @ Rs.1000/- per teacher for online NISHTHA Training at Elementary level for covering the remaining teachers under NISHTHA-elementary level.

It has been decided that this year remaining training of NISHTHA Phase II Secondary level will be conducted online by the NCERT using high quality professionally made e-content following the four quadrant approach consisting of video, text, self-assessment and learn more. Consequently, in order to facilitate teachers to undertake online NISHTHA training, financial support upto Rs. 1000 per teacher for procuring pen-drives, printing of modules and high speed data-pack will be provided to Government teachers at the Government/Government aided teachers at secondary level on reimbursement basis and subject to successful completion of the training course.

#### b) Induction Training (Secondary)

The UT has proposed an amount of Rs. **800.00** lakh for financial assistance under Induction Training. The appraisal team has not been recommended the induction training due to the present COVID-19 situation only online NISHTHA Training at Elementary level will be conducted in 2020-21. The detailed training proposal and recommendation under this head are as given in the table below.

(Rs. In lakh)

SI.		l	Recommendation				
No.	Activity	Phy	Unit Cost	Fin	Phy	Unit Cost	Fin
1.	Secondary	10000	0.05	500	0	0	0
2.	Senior Secondary	6000	0.05	300	0	0	0
	Total of Induction Training (Secondary)			800			0

#### c) Master Trainers/Resource Person Training

The State has proposed an amount of Rs. **73.00**lakh for financial assistance under Master Trainers/Resource Person Training. The appraisal team has been recommended Rs **1.60**lakhs for resource person training head. The detailed training proposal and recommendation under this head are as given in the table below.

(Rs. In lakh)

		Proposal		Recommendation		
Activity	Phy	Unit Cost	Fin	Phy	Unit Cost	Fin

		Proposal		Red	commenda	tion
Activity	Phy	Unit Cost	Fin	Phy	Unit Cost	Fin
*KRPs Math Training Under NISHTHA State level ( Class IX to X)	30	0.02	0.6	28	0.01	0.28
KRPs Social Science Training Under NISHTHA State level (Class IX toX)	30	0.02	0.6	26	0.01	0.26
KRPs Language Training Under NISHTHA State level ( Class IX to X)	60	0.02	1.2	80	0.01	0.8
KRPs Science Training Under NISHTHA State level ( Class IX toX)	30	0.02	0.6	26	0.01	0.26
**KRPs Travel/Accommodation Under NISHTHA ( Class IX to X)	160	0.25	40	0	0	0
***Printing of NISHTHA Teacher Training Package (Class IX toX)	20000	0.0015	30	0	0	0
Total of Training of Resource Persons & Master Trainers (Secondary)			73			1.6

\*Recommended Math, Science, Language and Social Science KRPs training at @ Rs.1000/- per teacher for online NISHTHA Training at Secondary level (Classes IX-X).

\*\* Not recommended as this year NISHTHA Teacher Training will be conducted on Online mode.

\*\*\* Not recommended as this amount is already included in the Rs. 1000 provided per teachers.

## **4.Costing of Project Approval Board (PAB)**

Sub Component	Activity Master	Level	Physical	Unit Cost	Financial (In lac)
Training for In-service	In-Service Training (I to VIII Class)				
Teacher, Head Teachers and Teacher Educators	5 days training of Primary Teachers of Class I and II (NISHTHA)		1500	0.025	37.50
	5 days training of Primary Teachers of Class III to V (NISHTHA)		2000	0.025	50.00
	5 days training of Primary Teachers of Class VI to VIII (NISHTHA)				
	10 days training of Newly Appointed Primary Teachers of local bodies & DoE for Class I –V		6000	0.05	300.00
	5 days training of Class VI to VIII Teachers (The training will be based on NISHTHA Module)		20000	0.025	500.00
	5 days training of Nursery teachers		1300	0.025	32.50
	Total of In-Service Training (I to VIII Class)		30800		920.00
	In-Service Training (IX - XII Class)				

5 days training of Class IX & X under NISHTHA	20000	0.025	500.00
Subject Specific Traning		0.020	
10 days Newly promoted & Appointed Teachers of			
Class IX and X	10000	0.05	500.00
10 days Newly promoted & Appointed Teachers of			
Class XI and XII	6000	0.05	300.00
Total of In-Service Training (IX-XII)	36000		1300.00
Training of Resource Persons & Master Trainers			
Master Trainers/ RPs Training for Class I & II			
Training of Resource Persons & Master Trainers			
(Elementary)			
5 Days KRP Orientation at Secondary Level	150	0.02	
Total of Training of Resource Persons & Master			
Trainers (Elementary)	150		
School Leadership Training of Head Teachers/			
Principals/RPs (Elementary)			
Training of Head Teachers/Principals (Class I to VIII)			
Training of Head Teachers/Principals/ ADE/ DDE			
Zone/DDE District of Local Bodies			
5 Days Administrative Capacity building of Primary		0.005	
In-charges	449	0.025	11.225
5 Days Administrative Capacity building of HoS of	1050	0.005	
local bodies	1650	0.025	41.25
Total of School Leadership Training of Head	2000		50.47
Teachers/ Principals/RPs (Elementary)	2099		52.475
School Leadership Training of Head Teachers/			
Principals/RPs (Secondary)			
Training of Head Master (Class IX to XII) @ 1600/-			
Per HM per day			
Training of HMs (SLDP)/Educational Administrators			
@ 1000/- per trainee per day			
3 Days School Leadership Training of Heads			
Teachers/ Principal/RPs	1200	0.03	3
7 Days programme for Newly promoted Vice-			
principals on School Leadership and Administrative	700	0.035	24.
skills	,	0.000	21.
Total of School Leadership Training of Head			
Teachers/ Principals/RPs (Secondary)			60.
Total of Training for In-service Teacher, Head		1	
Teachers and Teacher Educators			2335.975